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Shocks in the air




Shocks are…


•  Collision between 2 different plasmas


•  A hydrodynamic surprise




Shocks in Hydrodynamics
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Entropy’s tale
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Shocks in MHD
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v1	
  
v2	
  B1	
  

B2	
  

θ2	
  

θ1	
  

β1	
   β2	
  

Shock	
  characterized	
  
by	
  3	
  dimensionless	
  
pre-­‐shock	
  parameters:	
  

€ 

M1A =
v1

B1 / 4πρ1
=

v1n
B1n / 4πρ1

€ 

θ1 = tan−1 B⊥1

Bn1

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

€ 

β1 =
p1

B1
2 /8π€ 

[[ρvn
2 + p + B⊥

2 /8π ]] = 0

€ 

[[ 12 ρvnv
2 + γ

γ −1 pvn ]] = 0€ 

ρvn [[v⊥]] − Bn[[B⊥]]/4π = 0

Jump	
  condi4ons	
  in	
  	
  
de	
  Hoffman-­‐Teller	
  frame	
  

Use	
  3	
  jump.	
  conds	
  
to	
  solve	
  for	
  
downstream	
  
parameters	
  
	
  	
  	
  	
  	
  MA2	
  	
  	
  θ2	
  	
  	
  	
  β2	
  



v1	
  
v2	
  B1	
  

B2	
  

θ2	
  

θ1	
  

β1	
   β2	
  

€ 

ρvn [[v⊥]] − Bn[[B⊥]]/4π = 0

€ 

[[(MA
2 −1)tan2θ ]] = 0

eliminate	
  θ2	
  in	
  terms	
  of	
  θ1,	
  MA1
2	
  and	
  MA2

2	
  

etc.	
  unKl…	
  



NB:	
  
• 	
  ρ2/ρ1	
  =	
  MA1

2	
  /	
  MA2
2	
  

• 	
  region	
  MA2	
  >	
  MA1	
  

	
  	
  	
  	
  (ρ2	
  <	
  ρ1)	
  disallowed	
  	
  
	
  	
  by	
  2nd	
  law	
  thermo.	
  
• 	
  MA2	
  =	
  MA1	
  reps.	
  	
  
	
  	
  3	
  linear	
  waves	
  	
  
	
  	
  of	
  MHD	
  
• 	
  each	
  shock:	
  flow	
  
	
  	
  faster	
  (slower)	
  than	
  lin.	
  
	
  	
  wave	
  in	
  region	
  1	
  (2)	
  

θ1	
  =300	
  	
  	
  β1=0.05	
  



3	
  MHD	
  shocks	
  
	
  	
  fast:	
  	
  	
   	
   	
   	
  	
  	
  MA1	
  >	
  MA2	
  >	
  1	
  	
  
	
  	
  intermediate:	
  	
  	
  	
  MA1	
  >	
  1	
  >	
  MA2	
  

	
  	
  slow:	
  	
  	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1	
  >	
  MA1	
  >	
  MA2	
  	
  	
  



3	
  MHD	
  shocks	
  
	
  	
  fast:	
  	
  	
   	
   	
   	
  	
  	
  MA1	
  >	
  MA2	
  >	
  1	
  	
  
	
  	
  intermediate:	
  	
  	
  	
  MA1	
  >	
  1	
  >	
  MA2	
  

	
  	
  slow:	
  	
  	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1	
  >	
  MA1	
  >	
  MA2	
  	
  	
  

€ 

[[(MA
2 −1)tan2θ ]] = 0

B1	
  
B2	
  

θ2	
  

θ1	
  

B1	
  
B2	
  

θ2	
  θ1	
  

fast	
  	
   slow	
  	
  

θ2	
  >	
  θ1>	
  0	
   θ1	
  >	
  θ2>	
  0	
  

B1	
   B2	
  

θ2	
  θ1	
  

intermediate	
  	
  

θ1	
  >	
  0	
  >	
  θ2	
  

€ 

B⊥2
B⊥1

=
tanθ2
tanθ1

=
MA1

2 −1
MA 2

2 −1

B1	
  <	
  B2	
   B1	
  >	
  B2	
  



θ1=20o,	
  	
  β1=0.2	
   θ1=70o,	
  	
  β1=0.2	
  

B1	
  

θ1	
  

B1	
  

θ1	
  

FMW	
  

SMW	
  
SAW	
  

quasi-­‐parallel	
   quasi-­‐perpendicular	
  



θ1=20o,	
  	
  β1=2.0	
   θ1=70o,	
  	
  β1=2.0	
  

B1	
  

θ1	
  

B1	
  

θ1	
  

FMW	
  

SMW	
  
SAW	
  

quasi-­‐parallel	
   quasi-­‐perpendicular	
  



Hypersonic limit


	
  4	
  
MagneKc	
  
pressure:	
  	
  	
  
only	
  x16	
  

Plasma	
  
pressure,	
  no	
  
limit	
  



Vinas	
  &	
  Scudder	
  1986	
  

H-­‐sphere:	
  	
  θ1=84o,	
  	
  β1=15	
  

MA1	
  =	
  8.0/cos(θ1)	
  

Voyager	
  I	
  @	
  r=1.6	
  AU	
  
(vesc	
  =	
  34	
  km/s)	
  

R	
  
T	
  

N	
  
	
  

282	
  km/s	
   321	
  

7.6	
  cm-­‐3	
   19	
  cm-­‐3	
  

305	
  km/s	
  

Fast Shocks 
Observed




Vinas	
  &	
  Scudder	
  1986	
  

θ1=74o,	
  	
  β1=6	
  

MA1	
  =	
  8.1/cos(θ1)	
  

	
  

ISEE-­‐1	
  crosses	
  bow	
  shock	
  



Forward	
  shock	
  

Voyager	
  2	
  at	
  	
  	
  r=2.17	
  AU	
  

θ1=23o,	
  	
  β1=1.7,	
  MA1=2.4	
  

upstream	
   downstream	
  

Scudder	
  et	
  al.	
  1984	
  



G
osling	
  et	
  al.	
  1994	
  

2	
  FM	
  shocks	
  	
  
2	
  (1?)	
  TDs	
  	
  

Ulysses	
  
@	
  r=3.5	
  AU	
  	
  



Solar Fast 
Shocks


ne=106	
  cm-­‐3	
  

ne=107	
  cm-­‐3	
  

Liu	
  et	
  al.	
  2009	
  

Band	
  splivng	
  
reveals	
  both	
  
ne1	
  &	
  ne2	
  	
  

ne2/ne1=1.59	
  	
  

MA1~	
  1.26-­‐1.47	
  

Type	
  II	
  

Type	
  III	
  



Solar Fast 
Shocks


ne=106	
  cm-­‐3	
  

ne=107	
  cm-­‐3	
  

Liu	
  et	
  al.	
  2009	
  

Band	
  splivng	
  
reveals	
  both	
  
ne1	
  &	
  ne2	
  	
  

ne2/ne1=1.59	
  	
  

MA1~	
  1.26-­‐1.47	
  

Type	
  II	
  

Type	
  III	
  

ne=3	
  x	
  106	
  cm-­‐3	
  

ground	
  

Space	
  (STEREO)	
  



Slow shocks: reconnection


p	
  

Li
n	
  
&
	
  L
ee
	
  1
99
9	
  

SS’	
  



Model reconnection


Forbes,	
  T.G.,	
  and	
  Malherbe	
  1986	
  (v.2	
  ch.	
  6)	
  

Tsuneta	
  and	
  	
  Naito	
  1998	
  



W
althour	
  et	
  al.	
  1994	
  

	
  

ISEE-­‐1	
  at	
  the	
  
magnetopause:	
  	
  
SS	
  from	
  reconnecKon	
  



Intermediate Shocks


Petschek	
  &	
  Thorne	
  1967	
  

Lin	
  &	
  Lee	
  1999	
  

ReconnecKon	
  
between	
  
skewed	
  fields	
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Entropy’s Tale … the sequel


•  A shock converts kinetic to thermal energy

•  How?  What is the µ-physics?

– Collisions (i.e. viscosity) – high enough density

– Otherwise…(story not finished yet)

•  Instabilities, chaotic particle motion, …

•  Related to acceleration of non-thermal particles

•  Easier if particles gyrate near shock:

   quasi-perp. thermalizes easier than quasi-parallel




Summary



